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T.E & SCERT Exam 2023
(CANDIDATE RESPONSE SHEET)

Roll No
App No
Name
Paper/Subject D.El.Ed(Odia)
Exam Date 01 Jun 2023
Exam Slot 2

Passage:

The questions are based on a short passage. Read the passage below to answer
the questions. Choose the correct answer from the 4 listed choices.

If green energy is ever to supplant fossil fuels, portable power needs to become
more efficient and cheaper. Yet as electronic goods become both more powerful
and smaller, batteries are struggling to keep pace. In large part, that’s because
it's increasingly difficult to pack ever more energy into lightweight lithium-ion
batteries while also making them less expensive.

According to Venkat Srinivasan, a leading battery scientist, “A lot of car
companies are producing electric cars that have a range of 200 miles. Costs have
dropped, but the biggest problem they’re facing is that the cost of their batteries
is still too high”.

One area being explored is solid-state devices, in which the liquid-electrolyte
batteries are replaced by solids. For one thing, such devices are safer, Srinivasan
says. While liquid lithium-ion batteries can ignite rapidly if they overheat, the
more stable solid state versions under investigation represent a return to the
past, albeit with a rechargeable twist.

Trying to recharge these solid-state batteries causes the lithium to form
dendrites—needl|e-like structures—that end up short-circuiting the battery,
which can heat it up and cause fires. To figure out how to get around the
problem, it helps to think of dendrites like the roots of a tree.

A few years ago, researchers in Japan identified sulfite-based glass materials
that not only were strong enough to resist the dendrites but also have very high
conductivity. These might offer a way around the problem and help to develop

rechargeable solid-state lithium batteries.
Passage:

Question ID:8011
Topic Name:SECTION-I English Language

Question: According to the above passage, when will green energy supplant fossil fuels?

A When lithium batteries become of low conductivity.

‘
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B

€ When portable power becomes more efficient and cheaper.

D

When lithium batteries become less efficient and cheaper.

When portable power becomes less efficient and cheaper.

Answer Given By Candidate:Not Attempted

Question ID:8012
Topic Name:SECTION-I English Language
Question:

Which of the following can be inferred about solid-state devices based on the given passage?

A

Solid-state devices are the devices where solid-electrolyte batteries are
replaced by liguids.

Solid-state devices are the devices where liquid-electrolyte batteries are
replaced by solids.

Solid-state devices are the devices where liquid-electrolyte batteries are
replaced by other liquids.

Solid-state devices are the devices where solid-electrolyte batteries are
replaced by other solids.

Answer Given By Candidate:B

Question 1D:8013
Topic Name: SECTION-I English Language

Question:

A

Which of the following can be inferred based on the given passage?

Recharging solid-state batteries causes the lithium to form dendrites that
end up short-circuiting the battery. It can also heat up the battery and
cause fires.

Recharging solid-state batteries drains the battery easily. It can also heat
up the battery and cause fires.

Recharging solid-state batteries causes it to store more energy which in
turn explodes.

Recharging solid-state batteries causes it to form dendrites under high
density and emit harmful radiations.

Answer Given By Candidate:A

Question ID:8014
Topic Name:SECTION-I English Language

Question: galact the correct synonym of “ANNIHILATION”.

A

B

C

Join Us-
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Correct Answer
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Answer Given By Candidate:Not Attempted

Question 1D:8015
Topic Name:SECTION-I English Language

Question: \v/hat is the Synonym of “Perturb”?
A Agitate Correct Answer

B Comfort

€ Enlighten

D Edify

Answer Given By Candidate:Not Attempted

Question ID:8016
Topic Name:SECTION-I English Language

Question: ywhich of the following is OPPOSITE to 'zeal'?
& Apathy vCorrect Answer

B passion

€ Enthusiasm

D Fervor

Answer Given By Candidate:Not Attempted

Question ID:8017
Topic Name:SECTION-I English Language

Question: Sa|act the meaning of the following idiom/phrase:
“Lion’s share”.

A Strong critic
B Great share of things Correct Answer
€ Lions hunt

D Dangerous disease

Answer Given By Candidate:Not Attempted

Question 1D:8018
Topic Name:SECTION-I English Language
Question: Sa|act the meaning of the following idiom/phrase:

“An oily tongue”.

>

A hungry person

B Smooth spoken or flattering it Ak

€ Defiantly silent

D Dangerous disease

Answer Given By Candidate:Not Attempted
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Question ID:8019
Topic Name:SECTION-I English Language

Question: 1, cart the correct article in the blank given:

It's three-thirty, lunch ended hour ago.
& Correct Answer
B the
£ @

D No article required
Answer Given By Candidate:D

Question ID:80110
Topic Name:SECTION-I English Language

Question: nsert the correct preposition in the blank given:

Ram is running his dog.
A in
B after Correct Answer
C on
D away

Answer Given By Candidate:Not Attempted

Question ID:80111
Topic Name: SECTION-I Education and General Awareness

Question: \y/hat are praducersin a food chain called?

B9 GpPmlo QISR @'l §eldig?

A Autographs
269Dl

B Radiotrophes
60CGELIT

C  Heterotrophs
6XE6TENCTIE

D Autotrophs
269161Y

Correct Answer

Answer Given By Candidate:C

Question ID:80112
Topic Name:SECTION-I Education and General Awareness

Sueatisin: In which year was DPEP launched by the Government?

699 98 DPEP IORIR 210G FREM?

‘
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A 1994 Correct Answer
1994

B 1947
1947

C 1978
1978

D 1982
1982
Answer Given By Candidate:B
Question ID:80113
Topic Name:SECTION-I Education and General Awareness
Question: \Where is CSIR’s headquarter located?
CSIR D EJSUIRL 6RR0I6R 2ASFE ?
A Mumbai
JUR
B Chennai
699N
C  Delhi
o
D Kolkata
6RImelel

Correct Answer

Answer Given By Candidate:A

Question ID:80114
Topic Name:SECTION-I Education and General Awareness

Question: \which Act(s) by the British Government allowed certain
political cases to be tried without juries and permitted

jailing of suspects without trial?
954 dORNBE 696 NG (YEF) 69669 AURCTER
MG 91 9OINER TTIR ARG AT 6SnYMI 99°
dRYT 901 TTINER 6RMERN NYSIF AT 6QR2MI?

A Chamberlain Act
EOANEME 2RITAE

B Rowlatt Act
6UEMG' 2R FAE] Correct Answer

C Amritsar Act

AL 2GTAL

‘
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D Dpefense of British Raj Acts

954 QIR QX YOI 2GS
Answer Given By Candidate:D

Question ID:80115
Topic Name:SECTION-I Education and General Awareness

Question; What is the purpose of Foundational Literacy and Numeracy

Assessment Test?
641lne QIN9e] ¥9° o8yl £FImMYILG AN LewslY @'6l?

A To assess the Reading, language speaking skills of the learner

s8che 906, SISl KE919 QH6! AI9RE S99

B To assess the Speaking, Writing and Numeracy skills of the
learner

faiche @89, 6EIe 99° A°HYl QYS! 2INRE KRS

C To assess the Reading, Writing and Numeracy skills of the learner

Sl d0g, 6msll 99° ddal QASIAl RYIRE K99

Correct Answer

D To assess the Mathematical skills of the learner
ddichear GISee QA6 2INRE K9S

Answer Given By Candidate:C

Question I1D:80116
Topic Name:SECTION-I Reasoning

Question: - Answer the following question based on the statements below:

|. Raman, Sonam, Rahim and Mona play football and cricket.
Il. Raman, Sonu and Mona play football, hockey and cricket.
I1l. Sonu, Rahim and Mohan play hockey, cricket and basketball.

Which game is played by all?
QIR E‘EIIE]I@E_’J@I @Q@ RIDNERN ?Pﬂ@ﬁ}@ J99 K @8@:

. €18, 69IGF], REC B 671G FTIM B F6RY 6SIRS |
1. €18, 699 B 651G PEIR, €@ B F6RT SRS
. 641G, QE¢1 6 6C1EE &, §696'd B QI6ATYM 65IRE |

696! 66IR D762 68IRE?
- Er icket Correct Answer
q6aY

‘
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B Football

FoeR
¢ Hockey
of

D Basketball
Q16" Mm

Answer Given By Candidate:A

Question ID:80117
Topic Name:SECTION-I Reasoning
Question: |n a certain code, ‘REFRIGERATOR’ is coded as ‘723754271867, what would

be the code for ‘GREAT’?
NG g‘ﬁﬂ- Y6 e '69@’@6@9@'@ '723754271867' WI6Q U6we G?SIIE]IE:\@,
'65]5“61 6@e '8l 64Q?

A 47128
47128

B 47218
47218

C 41278
41278

D 41728
41728

Answer Given By Candidate:D

Correct Answer

Question 1D:80118
Topic Name:SECTION-I Reasoning

Question:|f 'SPIDER' is written as 'REDIPS', then how can 'NORMAL' be written in that
code?

a9 'dInE QR 'REDIPS' QUGN 6MBILING, 6669 69% 6@l% 69l 'G‘ﬁlﬁl}' Qda

emSlLInAING?

A LARMON
LARMON

B LAORMN
LAORMN

¢ LAMRON
LAMRON

D LRMAON
LRMAON

Correct Answer

Answer Given By Candidate:Not Attempted

Question 1D:80119
Topic Name:SECTION-I Reasoning

‘
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Question: Choose from the given options what must come in the blank.
13,.11,14,12,15, 13,1614,

QLIRS SRFYLR FRIQ CAG A0 64 Sl FIFER 96l 2D 2GS |

13,11, 14,12,15,13,16,14,

A 14
14

B 15
15

¢ 16
16

» 17
17

Correct Answer
Answer Given By Candidate:D
Question 1D:80120

Topic Name:SECTION-I Reasoning
Question: £ind the next letter in the series: B, E; ;..

68ENR ARQEN VA G4 @G B, E,J, .

AM
M

0
@)

0
-

N

ad -
Q

Correct Answer

Answer Given By Candidate:Not Attempted

Question 1D:80121
Topic Name:SECTION-I Teaching Aptitude
Question: Students in the front rows have the highest rates of engagement

while back rows tend to be less engaged.

Identify the type of seating arrangement.

21191 MIFER 29 BISRISIFNCT QARG 6271 LI AGOIQ 2@
2SI 696R IR UFER AF TR AT

QIR YRR TG AQG |

A Cluster

KI0

‘
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B Traditional
dIQ@

C U-shape

296

D' None of the Above
QU6AUS FRIQ 6QNIAT Q6%

Correct Answer

Answer Given By Candidate:D

Question 1D:80122
Topic Name:SECTION-I Teaching Aptitude
Question: |f students are not taking interest in the teaching, then the

teacher should:
€49 2IeIe1¢l6R dI0dRI6ea 2oL 9elsl QQQIQIQ Gl'6L6m

94
A |gnore the students
BILG AU I

B Leave the class
6561 AQGIS! a9

C Punish the Class
651611601 @6 Q2

D Change the teaching method
JRGIE NG ARL6R aolp

Correct Answer

Answer Given By Candidate:D

Question 1D:80123
Topic Name: SECTION-I Teaching Aptitude

Question:\\/hich of the following is related with teaching skill ?
QEINGIS FRIQEANT FHIQIE QUS| 9ES ARG ?

A Black-board writing
@ml-dYIeR 6melQl

B Solving questions
g RIS RS

C Asking questions
d4g dg1<l

D All the above
QU6 LD

Correct Answer

Answer Given By Candidate: D

Question 1D:80124
Topic Name:SECTION-I Teaching Aptitude

‘
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Question: [dentify the wrong statement/s from the options given for
cultivating self-awareness

2I¢]-9608aC! ELQ- Q09! aIR @Htﬂl@&g%‘l @Q%@ ftm
QQ0/9¥q Oge Qg
A Assessing everyone around you except yourself.

0@ QUL YA 2ISlAISIeR 29l AT 2RRT K9G |

Correct Answer

B Assessing your perception of yourself, including your actions,
traits, behaviors or emotions.

a8 @iy, 96, TG R VAR L6618 G@ VAR
el 2ol 2iane @]

Taking time to understand your inner strength and also your
weakness.
@' QUL1E 2ddla 2ISIAICeR 2 el IR @ |

D Taking time to reflect on your actions or thoughts
2106 QldY GeU TSRIGI AL6R T8 KRRIg AFN KA

Answer Given By Candidate:Not Attempted

Question 1D:80125
Topic Name:SECTION-I Teaching Aptitude

Question: | earners have different kinds of abilities. Yet, the general curriculum
treats them as a homogenous group. To bridge the gap in content,
process and product teacher should use:

JRieq G6Q g1 Q86! 21N | G2lId, ARIKE CI0YGEER 69710
@ 2R 69lIY QISER 6QER! AU | TRQY, G I9° LYIeq
QUL G Y2¢ 2RI S8 QUQRIR AR ABG:

A Only Lecture method
RGN @QPYI 86

B Differentiated Instruction
09 ©g FeudaIel

C Only Laboratory method
6290 dUKIGIR A8G

D None of the Above
QUERUD FRIQ R QIL

Correct Answer

Answer Given By Candidate:B

Question 1D:80126
Topic Name:SECTION-I Teaching Aptitude
Question: \Which of the following is a collaborative learning Activities?

FEIRGS FRIQ 6QRT 9@ de6alsh d86¢ QIdiamia 21667

‘
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A Team-Based Learning
o G dal
B Think pair share
9% Q91 641G 2°ENQIRQ KRB
¢ Group or pair discussion
60lIF @kl 6LI% 2EMISR

D All of the Above
WA LE1D

Answer Given By Candidate: A

Correct Answer

Question ID:80127

Topic Name:SECTION-I Teaching Aptitude

Question: Passijve agencies are those which influence the learners but
they are not influenced in return. Radio, TV, press, Library
are the examples of passive agencies.

QY 166G, 6298 697lI60 digl FaRhiCIeg gQRe K6Q @
69ElI6S IER0R6R JRIGE g2 Q1Y | 6086,5@, 699,
MIRELN YA I6RQE TR AQNLRE |
A The teaching learning process is two way

SIS JGel 6298 9RG ATl

B The teaching learning process is one way
QL 9T 69 99 Qe

Correct Answer

The action and reactions are entertained

@l 99° JoQAIYeR F6RI0ER QAN

p None of these
eI FRIQ 66T L6

Answer Given By Candidate:D

Question ID:80128
Topic Name:SECTION-I Teaching Aptitude

Question: Sports program such as swimming comes under:
A2R¢ Of 191 QIHIGE 2RISERQ E‘ll%@:

A Formal education
Elliiﬂ,l@iﬁ’ Sl

B Informal education
26R1aoIe Sl

C Non-formal education
2S-21gR R Sl

Correct Answer

‘
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D |rregular education
QLS S8l

Answer Given By Candidate:C

Question ID:80129

Topic Name:SECTION-I Teaching Aptitude
Question: The Challenges faced by teachers are:

SRRCIEE AN 6@/ 2QYRFYLR 6LMI:

A Lack of Planning Time
64l e LEIQ 2l

B | ack of Parental Support
delaisie 962lea 2R

€ Inadequate Student Motivation
aduig 218 6994l

p All of the Above
LB el

Correct Answer
Answer Given By Candidate:D

Question ID:80130
Topic Name:SECTION-I Teaching Aptitude
Question: Meta cognition is:

66161 ARG 69Q&:
A Thinking about one’s own thought processes
G0 TSR FINER T KRS

B Divergent thinking
Qg 09 SR

¢ Convergent thinking
JeRe SeRIN

D Knowing about memory and mnemonic strategies
EEIEFIIRN 99° 651651RR QEIRTE TRACA RIS

Answer Given By Candidate:D

Question 1D:80131
Topic Name:SECTION-I1 Odia Language

P RRICN 69Q S99 ATR?
A Alkatra

% Alcatra

¢ Alacatrao Correct Answer
? Alakatara

Correct Answer

WtsApp/Call- 8596976190
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Answer Given By Candidate: A
Question ID:80132

Topic Name:SECTION-II Odia Language )
Question: o161 QUSRIR FR2S! ‘AR’ R IR FI9F 'Almario’ | 'Almario’ 65Q QUSIR S8 ?

A G

B CPQUET

© QM@  Correct Answer
? BREIR

Answer Given By Candidate:C

Question 1D:80133
Topic Name:SECTION-II Odia Language

Question: sc IR FIQG] AR RG] FUE1 F6Q B IRER A&
@9 I QIQYUEQ QURTIR 6TIN2YQ 6REIR S19T @92

A leel Correct Answer
* Q3!

C og

(13

Answer Given By Candidate:A

Question ID:80134
Topic Name:SECTION-11 Odia Language

" geaRl IR6R IR J6US AURYS FIQ 694 26a QULES 6TIRE?

* Aeuig

B QIgaly Correct Answer
¢ gaIe

P QUKL

Answer Given By Candidate:B

Question 1D:80135
Topic Name:SECTION-II Odia Language

Question:  __ — o o — o
gl6IR1N M| = | @6l® dl QU ¢ldR 60Q NG gaUgla din
QAYS 6% ?

A
‘élg@ | Correct Answer
B gl
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 6E19Q
P @RiQl
Answer Given By Candidate:A

Question 1D:80136
Topic Name:SECTION-II Odia Language

P ORI IR6R 696 JRUA QUSLIR FAIAIRG?
)

B2l

C ga Correct Answer

> Ql

FRSU———

Question ID:80137

Topic Name:SECTION-II Odia Language

e Qelg QI 6918 QIRSI TIR 6MISH 699 QR QUSLIR KAT?

' QIR6Q QIe 694!

b gl QIQQl Correct Answer
¢ QgRl AIeg 98 9AQl

’ gal R44e

Answer Given By Candidate:B

Question ID:80138
Topic Name: SECTION-II Odia Language
Question:

Qﬂa QQTQ @léll 65l @E]GS\ 69162 gRIS IRIRS Q1T I' 6QTE 2°4]
ARG6a 96&“@4 1R 6820 QUILIR F6M SIFUTR 2d6R 6a16T ORSEE
624 Ql1a?

b QPR 919

b A9I91Re

N

D SR Correct Answer

Answer Given By Candidate:D

Question 1D:80139
Topic Name:SECTION-II Odia Language
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Question:

'QERY QIAIF FIRIS 2L 2SR 6L QI | ' 6QSIRS 2°F 96R
P68 FRIQ 6RRT QUITIRA F6M FARUTR 226 6T1E TAREE 689 FIT?

A AIIey QR @ 6QQl  Corect Answer
® 0R 699l

¢ 6LIGI6AIT 6QgQl

P 0@ gQul 69¢Ql

Answer Given By Candidate:D

Question ID:80140

Topic Name:SECTION-II Odia Language
Question: “Qoin” 666 61 266 ?

A Plodeq Correct Answer
B ach

C o

DGRl

Answer Given By Candidate:D

Question ID:80141
Topic Name:SECTION-II Odia Language

Question: e R161d RS AT UAER TAEIE 626m 63T IHAQ @61 RaB?

L=

>

AR Correct Answer
B Qigsieed

¢ Rl
D oReYRes

Answer Given By Candidate:A

Question ID:80142
Topic Name:SECTION-II Odia Language
Question: QT A°QH AR ?

L)

A g Correct Answer

D g

Answer Given By Candidate:B
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Question ID:80143
Topic Name:SECTION-II Odia Language

Question: qiquq 21l 606 @A QST RIS R6F., G1R, 6RE G QRIAN ?
A gaidel Correct Answer

B agadel

C ﬁﬂ

D =g

Answer Given By Candidate:A

Question ID:80144
Topic Name:SECTION-II Odia Language

Question: o8 QIR AR QU FMIRA ORI | 9016 AAANTR G 6QAT ?
A Q9IAn

Ul Correct Answer

C ae

D of

Answer Given By Candidate:B

Question ID:80145
Topic Name:SECTION-II Odia Language

Question: Q) elge 626m OI) A6 QRIAIG?

A gada

b gede Correct AnSwer
C ﬁ&

P ‘el

Answer Given By Candidate:B

Question 1D:80191
Topic Name:SECTION-II Mathematics

Question: Ap article was sold for Rs. 36.00 with a profit of 20%. If it were sold for

Rs. 33, calculate the percentage of profit or loss?
66115 BN 36.00 TFIER §F 62N 20% MIN 6LIRYMI | UG 9L 33 FRIER
Q@ 62IR8, 6669 MR @ ATA Eae E4Ie *9g?

A 10.00 % profit Correct Answer
10.00 % Ml

B 10.00 % loss
10.00 % VG

‘
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C 3.33% profit
3.33% i

D 3.33% loss
3.33% 8¢

Answer Given By Candidate:Not Attempted

Question ID:80192
Topic Name:SECTION-II Mathematics

Question: ;o an paid Rs. 7500 as interest on a loan he took for 5 years, at 15%

rate of simple interest. What was the principal?

@ae 5 9d aie 66D IR ol QIYCED 15% Dom ol LIED 7500 Sl
dQIe @R26M| FJRUR 6R6E YMI?

A Rs 12000
Rs 12000

B Rs 15000
Rs 15000

C  Rs 10000
Correct Answer
Rs 10000
D Rs 12500
Rs 12500

Answer Given By Candidate:Not Attempted

Question ID:80193
Topic Name:SECTION-II Mathematics

Question: Aryind invested Rs.5000 for two years. The interestwas
compounded at the rate of 10% for the first year and 15% for the
second year. How much interest did he earn at the end of the two
year period?

A08e 9n 98 QIR 5000 TR FG6KIG @RRem | gaa od ain 10% 6
Fored IR 15% L1969 P 98 FdIReRll 9@ U 29y 6596R
64 668 L 6URTIRN FRYEM?

A Rs.1325
Rs.1325

Correct Answer

B Rs.1250
Rs.1250

C Rs.1375
Rs.1375

D Rs.1296
Rs.1296

Answer Given By Candidate:Not Attempted

Question ID:80194
Topic Name:SECTION-II Mathematics
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Question: £ the HCF for the following numbers:
16, 27

FINYS A°HUGER D HCF FE FDG:

16, 27

A 16
16

B 27
27
C 1
i |

Correct Answer

D 13
13

Answer Given By Candidate:Not Attempted

Question ID:80195
Topic Name:SECTION-II Mathematics

Question: The ratio of the present ages of A and B is 8:15. Eight years ago, the
ratio of their ages was 6:13. What will be the ratio of ages of A and B
after 8 years from now?

ANG® B Q QELIGE SALR 2GS 688 8:15 | 8 oF g6< saqIem

Qad 2GAIE 6:13 2RIl 96R0IR 8 9F T6R A WE* 8 SOLR AGUIT |8

699?

A 95
9:5
B 85
8:5
C 9:14
9:14
D 10:17
10:1%

Correct Answer
Answer Given By Candidate:Not Attempted

Question [D:80196

Topic Name:SECTION-1I Mathematics
Question: 14 sum of three numbers is 79. If the ratio of first number to the
second number is 4:7 and that of second to the third is 4:5, then the

second number is:

S6qIT AR AT 62@& 79 | AT QAL I°HYI B FLIA A°SIQ AGAIS
4:7 6 §R1AQ Q1A A°HMIQ 2GS 4:5, 6L6F FS1A L°SYI 62"

A 25
25

B 10
10

‘
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Correct Answer

36

Answer Given By Candidate:Not Attempted

Question ID:80197
Topic Name:SECTION-II Mathematics

Question: 1, radius of a circle is 7 cm. What is the length of an arc of the circle which subtends an angle of
60° at the center?

@ Qe QUIIS 7 cm 26E' | TR Ia Pl 634 6862 KL 66N 602 6Tlélg YYY @69?

A 44cm
4.4 cm

B 733cm
7.33 cm

Correct Answer

C 10.5cm
10.5 cm

D 12.6cm
12.6 cm

Answer Given By Candidate:Not Attempted
Question I1D:80198

Topic Name:SECTION-II Mathematics

tion:
Question What is the area of a square with a side of length 5 cm?

5 cm 6G6lY GEI% G QORI 6ASTR X612

A 5c¢m?

5cm?

B 10cm?
10 cm?

€15 cm?
15 cm?

D 25em?

Correct Answer
25 cm?

Answer Given By Candidate:Not Attempted

Question ID:80199
Topic Name: SECTION-I1 Mathematics
Question: Which among the following options is always true about parallelogram?

QIMES TRFYTR FRIQ 68AT AICITOR 698 TUACR Q! DY A6

A Diagonals are perpendicular to each other

R457e 0999 98 A 62IR2IY

‘
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B Opposite sides are unequal

Jasre aifges agnaie

C  Opposite sides are equal and parallel to each other

QNG Y ARYR 9L AR 99° ISR 265

Correct Answer

D Diagonals are equal in length

6Gcluen RelgGa AAIE 265

Answer Given By Candidate:D

Question ID:801100
Topic Name:SECTION-II Mathematics

Question: \yat is the solution of the system of equations?

2x-y=4and 4x + 3y =17
denaad QUL el @'6l?

2x-y=449° 4x + 3y =17

A x=29,y=138
x=29v=138

Correct Answer

B x=27,y=16
x=2.7,y=16

C x=-23,y=15
x=-23,y=15
D x=2.6y=13
x=2.6,y=13
Answer Given By Candidate:Not A ttem pted

Question ID:801101
Topic Name:SECTION-II Mathematics

Question: Find the value of x in the equation 3x+9=0

3x+9 - 0 AENRAE6R x A Ay Gl 9ag

A
3
B = Correct Answer
=9
C 1/3
1/3
D —-1/3
-1/3

Answer Given By Candidate:Not Attempted

Question ID:801102
Topic Name:SECTION-II Mathematics
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Question: \y/1 at is the set of odd numbers between 1 and 9 including both the numbers?

QR oo AR 1 Q 9 FRIERA 2 A°GUIR 694G 6R6E 629?
3 PEFAEGTES
{1,2,3,4,5,6,7,8,9}

B 135 %9
{1,3.5, 7.9}

Correct Answer

C {2,4,6,8}
{2,4,6,8]

D
{}

Answer Given By Candidate:Not Attempted

Question I1D:801103

Topic Name:SECTION-1I Mathematics
Question: y e . g L.
Which of the following is the definition of a symmetric difference of two sets?

PIMYG FRIQ 6990 $NT 6999 e 9596 AIFRYR A°RI 26572

A The set of all elements that are in both sets

Al 69960 2l 9f19 QUICIER 649

B The set of all elements that are only in one set

6Q9M 691N 6496 21 AA1Y AAILITA 697

C  The set of all elements that are not in either set

il 64960 9491 Af1Y QUILIF9 649

D' The set of all elements thatare in either set but not in both sets

Q6% 69960 81 Ag Q9 69769 §2/S] 2718 QEIQIRR 697

Correct Answer

Answer Given By Candidate:Not Attempted

Question ID:801104
Topic Name:SECTION-11 Mathematics

Question: what is the value of V169?
V169 9 FRY S'Q?

A 13
13

Correct Answer
B 12
12

C 14
14

D 15
15

Answer Given By Candidate:Not Attempted

‘
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Question ID:801105
Topic Name:SECTION-IT Mathematics

Question: \hat is the square of 7x + 2?7

7x+2 Q QGIE)R 6R69 6997?

A 497 +4
49x2 + 4

B 49x?+28x+4
49%% + 28x + 4

Correct Answer

C 49x2-28x+4
49x?-28x + 4

D 49x?-4

49x% - 4
Answer Given By Candidate:Not Attempted
Question ID:801106

Topic Name:SECTION-II Social Science
Question: Which of the following period covers 99% of human history?

FIMYS FRIQ 69 2ATY F1FT NELILR 99% 2SHD?

A Palaeolithic
dIg1e 9o 4ol

B Mesolithic
1zl A&l q&“ﬂ

C Neolithic

9ee 999 L9

D Megalithic
Flelg]

Answer Given By Candidate:A

Correct Answer

Question ID:801107
Topic Name:SECTION-II Social Science
Question: is a disciple of Ramanuja.

AUFFRFR Q66 SITY 2lem |

A Chaitanya
656aY

B Koorathalvar

ﬁiﬁﬂ&ﬁﬂ@lﬁl Correct Answer

C Nanak

@lee

D Kabir

@919l

Answer Given By Candidate:C
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Question ID:801108
Topic Name:SECTION-II Social Science
Question: Rgbindranath Tagore surrendered his “ knighthood” for

which of the following reason?

ARILGI2 FI6TIRN FYMHS TR 699 ARG N SR
"PIRegE” Aeds atRem?

A Jallianwala Bagh massacre
RIR2LIEIR UG LRYIRIE

B Chauri chaura tragedy
200 0ol 851G Llo'dll

Correct Answer

C Partition of Bengal
QP SRGRG

D Khilafat movement
QMo 26k Ime

Answer Given By Candidate:B

Question ID:801109
Topic Name:SECTION-II Social Science
Question: At what age Bhagat Singh was hanged to death in Lahore
jail?
664 QULED WOlE UL MICLIDN 6EmED Fidl
QU2 m?
A 23 Correct Answer
23

B 25
25

c 21
21

p 20
20

Answer Given By Candidate:C

Question I1D:801110
Topic Name: SECTION-II Social Science

Question: \W hich of the following articles of Indian constitution deals
with “Right to Freedom of Religion”?

RS FAMGR FIRYS FRIR 69 AN "del YIS
RN AGE AAUNG?
A Article 12-13

AR 12-13

B Article 19-22
&l 19-22

C Article 25-28
2ol 25-28

Correct Answer
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D Article 14-18
eliol 14-18

Answer Given By Candidate:B

Question ID:801111
Topic Name:SECTION-1I Social Science
Question:\\/ho was the first Chief election commissioner of India ?

Lo gelet €)oY QAo ATEEA @Y 2em ?

A Sukumar Sen

619 69Q

B R. K. Trivedi
2969 G69G1

C Navin Chawla
@G olEml

Correct Answer

D Rajiv Kumar
WY G

Answer Given By Candidate:A

Question 1D:801112

Topic Name:SECTION-II Social Science

Question: Which articles of Fundamental Rights cannot be suspended
by the president even in case of national emergency as per

article 352 of Indian constitution?

RUAGTA AFRJIGR 21N 352 QLN RIS1A FRAFIMEG
AQEG6R F1kI 6¢liRT 2RIFINDR 66Q UG AULAE FRAS
RANES FIL?
A Article 20-21 Correct Answer

2I9U 20-21

B Article 19-20
&gl 19-20

C Article 22-23
eligl 22-23

D Article 21-22
Mol 21-22

Answer Given By Candidate:A

Question ID:801113
Topic Name:SECTION-II Social Science

Question: \Who is the leader of the Lok Sabha?
EMladul 9de)ol 60961 @97

A President

AUYAG

B Speaker

QoY

‘
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C Prime Minister

(IR

D Vice—presidgnt
QG—QIQH-GQ

Answer Given By Candidate:A

Correct Answer

Question ID:801114
Topic Name:SECTION-II Social Science
Question: Who is the first citizen of India?

QAUALA PRIl TR G ?

A Chief justice of the supreme court

6915 QUARAR €81 TIAG

3 Presidgnt Correct Answer
AUYLAG

C Speaker of Lok SEbha
EmMiadul QUoELE

D Prime Minister
Jalla'elg

Answer Given By Candidate:A

Question ID:801115
Topic Name:SECTION-II Social Science
Question: \Where do we get maximum oxygen from?

2I6¢1 62R0IQ GRS 2AGRAIR AIQTe?

A Equatorial Forests

QAN REPR

B Temperate Forests
ClEARY GoPm

C Deserts o
ﬂ@@ﬁ _orrect Answer

D Phytoplanktons
ded 949@

Answer Given By Candidate:A

Question ID:801116
Topic Name:SECTION-II Social Science
Question: Humus in the soil is basically:

FISEQ 2Ja1 LYFIE] FJRSS:

A Decomposed flora & fauna
2duloe 6LIme Sl QARG df)e 997 flamld dislgm

Correct Answer

B Sand
QUM

‘
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C Clay
@lqe

D Decomposed parent rock
2duo'e 6¥ 12N ¢ Sl

Answer Given By Candidate:A

Question ID:801117
Topic Name:SECTION-II Social Science
Question:\W hich state in India is the largest producer of salt?

QRS 696 AURY e d0IR 2@ YYILERNT UWY 26T ?

A Maharashtra
FLINY

B Gujarat
ALY

Correct Answer

C Qdisha
3Gl

D Andhra Pradesh
g deasl

Answer Given By Candidate:B

Question ID:801118
Topic Name:SECTION-II Social Science
Question: Bombay High is well known for:

Q6% QIR Y2CIN 685 GANEAI:

A Petroleum deposits
6A6QIMAL! KEll

B Steel plant
e QNN

Correct Answer

C Zinc mines
@ ¢Id

D Atomic power plant
darlig 9@ 698

Answer Given By Candidate:A

Question ID:801119
Topic Name:SECTION-II Social Science
Question: Equinox occurs when the sun is above:

65166696 g€lY QAQG 2I¥ 69666967 TYL 94

A Tropic of Cancer
RAG 6l

WtsApp/Call- 8596976190
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B Equator Correct Answer
Qge 69l

C Tropic of Capricorn
¢1@9 6%l

D Arctic Circle

g6eINA §R

Answer Given By Candidate:B

Question 1D:801120
Topic Name:SECTION-II Social Science
Question: \Which of the following statements is true regarding great

circles?

FERYS FHIQ 60Q 96 YRR TR 96Y 2667

A Arctic circle, Antarctic circle and Equator are great circles
€6¢10ld 9@, GorIN Qe 99° @ﬂ@ 606l 99 Q' 29e

B Equator and all longitudes are great circles

TYQ 696l 49° 9619 696l°d gQ 9@ 215S

Correet Answer

C All latitudes and longitudes are great circles

a9 A[I°El 9Q° 6Q611°8 g QRIS

D Tropic of Cancer and Tropic of Capricorn are great circles

RS 696l 99° (1R 696l §Q 9@ AT

Answer Given By Candidate:C

Question 1D:801121
Topic Name:SECTION-II Science
Question: \which metal exists in liquid state at room temperature?

61091 QIALlIEIEn 6‘:??5&1!@ PO 29gIER AR?
A #Zinc
ot

B Potassium

caIEan

C lron
el

D Mercury Correct Answer
dioe

Answer Given By Candidate:B

Question 1D:801122
Topic Name:SECTION-II Science
Question: Which one among the following is the natural polymer?

FUMYS FRIR 6895 JIFET ARAR 2657

‘

Join Us-



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

BPEIQ AA8 GF QA g4 Q9 AN

WtsApp/Call- 8596976190
Download “Tech Of World” App

A Nylon
Qlome

B Teflon
60'Crmy

C pvC
ded

D  Cellulose

6EImEmlt Correct Answer
Answer Given By Candidate:Not Attempted
Question 1D:801123

Topic Name:SECTION-II Science
Question: The coil in a heater is made of:

2606R 991 FIRG 926R G20 NN:
A Nichrome Correct Answer
aeglel

B Tungsten
LEPedq

C  Copper
1321

D lron
Rel

Answer Given By Candidate:A

Question ID:801124
Topic Name:SECTION-II Science

Question: \which ope of the following reactions is a balanced reaction?
QaRgs 9ogal arIQ 6990 99 AGRE gEFR 2692
A 3Mn(s) +0(g) = Mn;0,(s)
3Mn(s) + 0(g) — Mn;0,(s)
B Mn(s) + Cl(g) - MnCl,(s)
Mn(s) + Cl(g) = MnCl,(s)

C  Mn(s) + Cl(g) —» MnCl(g)
Mn(s) + Cl(g) — MnCl(g)

D Mn(s) + H,S0,4(aq) - MnSO,4(aq) + H;(g)
Mn(s) + H,S04(aq) — MnS04(aq) + H,(g)

Correct Answer

Answer Given By Candidate:Not Attempted

Question ID:801125
Topic Name:SECTION-II Science
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Question: \which one of the following is a double displacement reaction?

FORYe FRIQ 629T 99 g9 FQIS 98T 26672

A heat
2Fe(OH)3(s) — Fe;04(5) + 3H20(I)

heat
2Fe(OH)3(s) — Fe»03(s) + 3H:0(])

B 2Be(s) + 0,(g) — 2Be0(s)
2Be(s) + 05(g) — 2Be0(s)

C  HCi(aq) + KOH(aq) — KCi(aq) + H,0(1)

: _orrect Answer
HCl(aq) + KOH(aq) - KCl(agq) + H,0(1) Correct Answer

D cuS0,(aq) + Ni(s) = NiS0s(aq) + Cu(s)
CuS04(aq) + Ni(s) = NiS0s(aq) + Cu(s)

Answer Given By Candidate:Not Attempted

Question ID:801126
Topic Name:SECTION-II Science
Question: The strongest fundamental force in nature is

deea 990Iq F134IR1 6¢11RS 68 6208
A Electric force
659Uee 618

B Gravitational force

arlIads o

C Nuclear force
aeclig as

Correct Answer

D Magnetic force
el 9F

Answer Given By Candidate:B

Question ID:801127
Topic Name:SECTION-II Science

Question: pamesh dropped an object freely from a height “H”, midway at a height of
H/2, it will possess:

QEL151 IS 99G ABC! "H'Q €] SISER BIT6M, H/2 AFLIER A1IZ6, LI
Q&

A Less potential & more kinetic energy

QF ARG 99° 2R ATHR 6B

B  Only potential energy
6Q9R AAUSY 618

C  Only kinetic energy
6RO 96 68
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D Half potential and half kinetic energy
2RI FEIQ1 9]° 2R FEE

Correct Answer
Answer Given By Candidate:D

Question ID:801128
Topic Name:SECTION-II Science
Question: |f velocity decreases with time, the velocity time graph will be

AT 699 A8 98¢ €I9 A1, 6961 Q8L i 629

A Straight downward slope

&l oRg ARYS 699

Correct Answer

B Straight upward slope
QI Qaa 65d

C Straight line parallel to time axis

€l 2dol Aelisolm dm 696l
D Zig Zag Graph
@?‘61‘ il olith

Answer Given By Candidate:Not Attempted

Question ID:801129
Topic Name:SECTION-II Science
Question: Chromosomes are located within the

691616 RIE] F16R 2ASES |

A Phospholipids
‘EPQIG‘E}’IE?]@Q‘EI\

B Nucleus

gieag

Correct Answer

C  Threads
46!

D proteins

64Iq

Answer Given By Candidate:Not Attempted

Question ID:801130
Topic Name:SECTION-II Science

Question: is the movement of water through a semipermeable membrane.

6RAE 99 ANGEC TR FIRIFER AR 9IF |

A Translocation

Iz

B Osmosis

aaIgag Correct Answer
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C Diffusion
S
D Dispersion

gade

Answer Given By Candidate:Not Attempted

Question 1D:801131
Topic Name:SECTION-II Science

Question: Endosperm is absent in the seeds of which of these angiosperms ?
wsleald 48 aqg9ge ARG g 6R05R F1B6R ?J@E]Q%‘ ?

A Orchids
A5G

Correct Answer

B Castor
@ULQ

C Maize
el

D Gram
el

Answer Given By Candidate:B
Question 1D:801132

Topic Name:SECTION-1I Science

Question:y, . process by which a seed develops into a plant is called

6819 9GAI FISI 48 TR R G960 SRS 94 Slalg GRIAN |

A Germination

AaPEolY ol

Correet Answer

B Translocation

dIaIsad

C  Growth
98

D Development
Falsl

Answer Given By Candidate:C

Question 1D:801133
Topic Name:SECTION-II Science
Question: c,rcyma longa is an underground root and is popularly known as

Qe GRISH 49 RER (@ 99° 9Q QIR 2ElgEI |

A Shakkar kand
AL
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B Haldi
Q@me

Correct Answer

C Jameen kand

Q0 14

D Arbi
228

Answer Given By Candidate:C

Question ID:801134
Topic Name:SECTION-II Science

Question: n16|d on bread is a colony.

QT AU6R BIM 6LAS 99 REMIGT |

A fungal
Qee

Correct Answer
B viral
qalge

C  bacterial
Qe

D protozoan

641691661

Answer Given By Candidate:A

Question ID:801135
Topic Name:SECTION-II Science
Question: Which of the following microorganisms cause Typhoid fever?

QIMEe AL FRI 6960 TINPIY G ga qe?

A Bacteria

@14

Correct Answer

B Fungus
@eq

C Protozoa

NS (NAF|

D Virus
Qelg]

Answer Given By Candidate:D
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